
Gas Laws Practice Problems
1. A gas occupies 1.56 L at 1.00 atm. What will be the volume of this gas if the pressure becomes 3.00 atm?
2. 600.0 mL of air is at 20.0 °C. What is the volume at 60.0 °C?

3. A gas occupies 11.2 liters at 0.860 atm. What is the pressure if the volume becomes 15.0 L?

4. A gas has a pressure of 0.370 atm at 50.0 °C. What is the pressure at standard temperature?
5. A gas occupies 900.0 mL at a temperature of 27.0 °C. What is the volume at 132.0 °C?
6. A gas has a volume of 800.0 mL at -23.00 °C and 300.0 torr. What would the volume of the gas be at 227.0 °C and 600.0 torr of pressure?

7. A gas occupies 12.3 liters at a pressure of 40.0 mm Hg. What is the volume when the pressure is increased to 60.0 mm Hg?

8. 500.0 liters of a gas are prepared at .921 atm and 200.0 °C. The gas is placed into a tank under high pressure. When the tank cools to 20.0 °C, the pressure of the gas is 30.0 atm. What is the volume of the gas?

9. To what pressure must a gas be compressed in order to get into a 3.00 cubic foot tank the entire weight of a gas that occupies 400.0 cu. ft. at standard pressure?

10. What is the final volume of a 400.0 mL gas sample that is subjected to a temperature change from 

22.0 °C to 30.0 °C and a pressure change from 760.0 mm Hg to 360.0 mm Hg? 
11. Calculate the decrease in temperature when 2.00 L at 20.0 °C is compressed to 1.00 L.

12. Determine the pressure change when a constant volume of gas at 1.00 atm is heated from 20.0 °C to 
30.0 °C.

13. If a gas at 25.0 °C occupies 3.60 liters at a pressure of 1.00 atm, what will be its volume at a pressure of 2.50 atm?

Answers (in random order):
0.313    0.520   0.642    1.03    1.44    8.20 L    9.51    133    146.5    682    800.0    867.3    1215    
atm    atm    atm    atm    K    L    L    L    mL    mL    mL    mL

